|7

(1)

AT g7

A Y B fafd ey 2

Heae
a=IE
He=z1H

Fill in the blank with the correct
determiner :

What does notice say ?

(1) those

(2) that

(3) some

(4) these

(5) Question not attempted

Fill in the blanks with the correct
prepositions :

I had to show my pass
man the door.

(1) at, at

£2) to, at

(3) to, into

(4) at, with

(5) Question not attempted

the

C{hoose the correct antonym for the
given word :

BENEFIT
A1) Damage
(2) Advantage
43) Vantage
(4) Usage
(6) Question net attemy, ted

Fill in the blap),

use of the S€quence of t the Correct
He S ﬁlwayg €hge :

€1) was, t, lose ———hig key,
(2) does, luaing
(3) has, logeg
(4) is, loging

(5) QUestion nog
Wtemne.. .

12.°



9,

10.

11.

12,

nan

wTer € ® 3N F sy )
¥ ET 21-60 a¥ 6 ng?iﬁ%
eTIRIE Y 2024-26 § 2028-29 3
5 sl A st 3 R Ty v

(1) ¥25000 2 55,000
(3) T45,000 (4) % 50,000
(6) oARA T

2024 T, A N Tefolta S sy

R w1 el R H A e -
(1) TS (2) Sefggy
(8) WRIWE ST [4) HR

(5) 3TgERE S

fva-wta @y aameT & fawm 3k
T I 9GHET o % e T et §9H %
SRR RE S EE RS CREIEN)
e AT hl Sl ¢ & fore S ot Afd
sl $ie 7

(1) Tpes 39 TSTeIH 2024

(2) &cdl TEH 2024

(3) TeH fRe 2024

M) B 3 TSI 2024

(5) ARG I

T A w6 T w3 eun i
AT TS T B | gHepT e
R FE 7

) I e % feru Rrenfizt = Rear-
VT I TS T |

| F W — A 9T
T |

o= & w1 red e T |
- i sl # A
TH ¥ ufye  fy PR
ST Y AT qAM A TGS
T |

I Y94

(2)

(3)
(4)

(5)

9. Under the SUBHADRA Scheme
recently launched in Odisha, all
eligible beneficiaries between the
age of 21-60 years will receive what
amount over a period of 5 years
between 2024-25 to 2028-29 ?

(1) T 25,000 (2) 55,000
(3) 45,000 (4) 50,000
l I(6) Question not attempted

10..!*As of 2024, which of the following is
the largest contributor to India’s
liyrenewable energy capacity ?
(1) Wind Energy
(2) Hydropower
(3) Biomass Energy
w(4) Solar Energy
" I(5) Question not attempted

11. 'As a dual engine for developing
i sworld class health-care services and
promoting tourism, recently which
policy has been developed by
Rajasthan dedicated to promoting
medical value travel in the state ?
(1) Fitness in Rajasthan 2024
1(2) Healthy Life 2024
(3) Rajasthan Fit 2024
[/(4) Heal in Rajasthan 2024
["(5) Question not attempted
12. Recently Finance Minister of India
launched “NPS Vatsalya Scheme”.

What is the primary objective of

this scheme ?

(1) To offer education loans- to

;'}’:,'5'::: students for higher education.

(2) To provide health insurance

4 for the children. .

'(3) To develop habit of saving
~ among children.

(4) To help parents and guardians
plan for their children’s future
financial needs.

Question not attempted

(5) :
o+




16.

117.

18.

B. =pficis

C. fmr-ow

R 1 AT Fh T IR v
(1) 9B

(2) FaAAARC

(3) FABIRC

(4) HITA

(5) HITRa WA

Ui STEtEEs 2024 ¥ $5t & e yr =t
1 T391 T ST AT A HE g S 7
& 57w
(2) 50 6.
(3) 475
(4) 53

(5) 3Faa g9

21 0 E () St fam) s 2024

F1 AT fohar mar 2 - ;

(1) W fomm e, see o 0

(2 o T e Gy, 49 ¥
ECiy

(3) Ty g afE, BeUETE B G

(4) T FEm P SEETH
TEIH, qa7at o gard

(5) FrTIa g9

16.

17:

18‘

Recently Hon'ble President of India
has‘ been honoured by conferring
the}r highest Civilian Awards by
which of the following countries ?

A, Fiji
B. New Zealand
C. Timor-Leste

Choose the correct answer by using
the code :

(1) Only B

(2) Only Aand C

(3) Only Band C

(4) Only A

(6) Question not attempted

In which weight category, Aman
Sherawat won bronze medal during
Paris 2024 Olympics Wrestling
tournament ?

(1) 57kg.

2 50k.g.

(3) 47kg.

(4) 53 kg

(5) Question not attempted

DAE (Department of Atomic Energy)

. Conclave 2024 is organised by

(1) Indian Institute of Secience,
Bengaluru

(2) Bhabha Atomic Research
Centre, Mumbai

(3) Nuclear  Fuel Complex,
Hyderabad

(4) National Institute of Science
Education and Research,
Bhubaneswar

(5) Question not attempted
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i = i (1)
(2) =% B ey
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FHAR | ey we S o AT =
(3) U7 A Fory i (2) Stat 1s false.
C m§ . ¢ atement B and C ave t (3_)
(,(j AT R | ﬁ’ﬁ YT B ® g:;lt Statement A is falsee rue 7
at Y
H‘ﬁﬂﬁiwmgl Bk ;;nent A and C are true
(5) et weq (4) Allth athterment B is false. : ®)
4. T8 3 fg y G) Que s. statements are true.
&y ¥ FE T 3 g stion not attempted 17. s
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Ty T afgdy (2) Ministry . of Envi : 3
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26.

27.

28.

Which of the following statement

regarding Parliamentary

mmittees is incorrect ?
Parliamentary Committee
works under the direction of
the Speaker.

(2) Parliamentary Committee
presents . its report to the
House or'to the Speaker and
the Secretariat.

(8) Parliamentary Committee
presents its report to the
Prime Minister.

(4) Parliamentary Committee
means a committee which is
appointed or elected by the

ouse or nominated by the
Speaker.
(5) Question not attempted

A motion to impeach a Judge of the

Supreme Court has to be

investigated by a committee

comprising of

(1) Two Judges of the Supreme
Court and one distinguished
Jurist,

(2) Two Judges of the Supreme
Court and two distinguished

) %‘ﬁﬁ??}' e of

(3 ief Justice of the Su reme
Court, one Judge ofl_') the
Supreme, - Court and one
distinguished Juyist.

@) 8;1&1 Judge of the Supreme

and two disti '
Tt 1stinguished

(B4) Question not attempted

Which of the following combination
of Prime Ministers of India have
never been the Leaders of the Rajya
Sla)lbha of Par lament since 1952 9

2 :%il%h(}ujr and Manmohgp,
DD G
%apmoha;vgingh Rrdar ang

3 d i

(3) N Oé_l}:‘a Gand].l:u and Nal'endra
(4) Pg}g]i?;ahadur Shagtr and v, p
(5) Question not attemmed

0o

30.

31.

32,

33.

00



24. w%mm%mﬁ
Tz |

25,

00

(1)

(2) WicH YRg = T
SR BT ey
AT TR o |
3 quﬁ[
FHHTE 91 7 A1 60 = ot oy
a5, il off 9B B, B | ;i
(4) ¥R P FAE RN TH e
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IER H1 7T o | :
(5) S 7
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1990 & T 2 | 9

24.

25.

Identify

the correct statement

regarding the Election Commission
of India.

(1)

@)

3)

4)

®)

In

The concept of multi-member
Commission has been in
operation since 1990 with
decision making power by a
majority vote.

Ramadevi was the only
woman Chief Election
Commissioner in India.

The President appoints Chief
Election Commissioner and
Election Commissioners and
they have tenure of five years,
or upto the age of 60 years,
whichever is earlier.

Election Commission of India
is a permanent Constitutional
Body and it was established
in accordance with the
Constitution on 25th January,
1952.

Question not attempted

which of the following

judgements, the Supreme Court has
gaid that the Preamble is not a part
of the Constitution ?

(1)
(2)

(3)
(4)

(5)

Golaknath V/s. State of
Rajasthan
Bharati Chandra Bhavan V/s.
State of Mysore
Berubari Case
Sajjan Singh V/s. State of
Rajasthan
Question not attempted

e




29, mm“ﬁﬂ“%m
W

ST R ST N Ry T . 29. Consider the following statements

A E%NT 938K tﬁﬁr@t %“ﬁﬁm% and stjlc‘t'i: the correct answer using

B. ©WH® | code given below :

. T 'W%mm% A.  Oriya Plateau is situated just

C. frar § EHIED)] SR | below the Guru Shikhar,
ﬁiﬁm&m% | é'*ﬁ w B.  Chhappan Plain ig a part of

Banas Basin.
D. RSN R T S C. Girwa hills are characteristic
G %Wﬁiﬁ{‘% I RLii feature of Udaipur Basin.

D. Mukandra hills are situated

e Sy between Kota and Baran
1 A C O B districts,
3) C3RD “) A g D Codes :

5 A Bake () AandC (2) B,CandD
(9 315&'““ RS (8) CandD (4) A, BandC

(6) Question not attempted
30. SR TAR ¢ 5
e E 30. Which is not a correct match ?
q?ﬁ Tributari Ri

} 3:ﬁ( riputaries iver
(L) SIS A AR il (1) Ujarand Ahu - Kalisindh
@) SUIRITEH - RIS (2) Chap and Jhakam — Mahi
3 USRI - = (8) Mej and Sagi — Chambal
@ "SR E® - W (4) Mansiand Khari — Banas

() IR N (6) Question not attempted

= ; S 31. Copper mines of Kushalgarh,

SL. mﬂﬁ@ﬁ;ﬁm@ CRHATR AR Senpari and Bhagat ka Baas are
ﬁqmﬁﬁﬁﬁiﬂﬁaﬁmﬁ? located 9in which of the following
district ?
(1) FER @ LIREIS (11;Ei rig]war (2) Bhilwara
3) =ET & TH (8) Kota (4) Jhunjhunu

(5) Question not attempted

®) JgEia v
32. T T 1 I HI -

32. Which is the incorrect pair ?

Breed Livestock
B by (1) Magra — Sheep
(‘? Wm i 23;& (2) Shekhawati — Goat
\E.:f)) q&ﬁ : < (3) Surti — Camel
4) Tr LA (4) Gir — Cow

(5) Question not attempted

() IgaRa ¥ 1
< 33. The difference between bn_st-Wes}.
Jat= and North-South extention ©

p by = Rajasthan is
- ‘Rajasthan .
i g8 el (1) 52k.m. (f) j? tﬁ:
() sam g . (9 43km. (&) d6km
@) . 43 i) S el (5) Question not attempte

(5) gaiaTH= 0

Ea
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19, fefefag el 0o fupait ~OH ¥
faarere wis A 7 ”
() WAl jjiel

(1 ﬂ’ll 114
nJJ_;'-IT-I'

(8) s )
(h) S e
20, e & uf % gl fran i woe @1
fivar il wfifian worwe vl faha @) 8
G L]
(1) wede fqug o wiwn s ufmm w1
U 3eg g # |
(2) @ 9 fqvel e e oof) o) #
& Az ¥ |
@) @ = gt o won it
aid B,y o # |
(4) qu14 fqve gy o) # |
(6)  wgwiia oy
3 & 4 w3 ar e i 9 demy )
oAl Bl 3 o
(1) w2 (2)  ifags
@) et e (4 ) Ty
@) aAqwfia yug

f«‘r:-ff:'ﬂfgrr 48 o0 gy Arpfer
r:.mu-ff e % i 2y (11§ &
1) Bt iy 2 rffeges iy
M Faath o Ui ytladt &y Sofy
v b % o

“)  way watiad

@) Ay gyl

(%) e

() oaym yafae

%) parten yuy

Cutitiegn 1y Vanss awiy wfvom vy
(1) CA), % 2 e

(7)) Cu( ;‘).4 Y e

%) ML) % 1) dyeg

“B) uhu ”}J.’.Hmf)“) % (), e
%) npdtien yug

19, - :
In Wllju'.h of tha following aompoundny

W Ehe funetionnl proup
(1) Butnnol
(%) Bulanolo nold
(i) Bubnnnl
(‘-_U Butanone
5 Quontion not ntlomptod

on
20, Nowton' thivd law of motion stales
hat (he netion and ronction are
equal nnd opposite and
() alwnys produce neeolorntions
of oqual magnitude in each
hody,
(2) net on two difforent bodies
only whon they collide,
(8) act on two different bodies
! under mutual intornction.
o) nct on the same body.
“(B)  Question not attempted
LY

21, 'Which of the following is a growth
“inhibitor hormone in plants
(1)  Cytokining (2) Auxin
(3)  Abscisic Acid (4)  Gibberellin
(6)  Quaostion not attempted

Which of the following does not
belong to the category of threatened
”H'pt-wicuﬂ of plants and animals
velagaifiod  for  the purpose of
Yeonservation by International Unjon
of Conservation of Nature and
Natural Resources (IUCN) ?

(1) Vulnerable specios

(2) Raore apeciaa’

() Extinct ppecios

() Endangered specios

, é}sg Question not attemptod

|

“Which of the followin would weigh
highent 7
(1) 2 moles of O,

(%) 2 molow of (Z'u(!(')"

() 10 molow of H,0

(4) 0.2 molo of wuioroue ((]m H
(h)  Quontion not u!.l.t.ln'nm;ud

22

24

'.Iﬂon)

[

— A

00

00

24.
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(1

(6)

(1)
(2)
(3)
)
(6)
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() Feres yidasmo

() o e 1
(B)  siqerfer wyer

W9 i % fergreer URITE r%?{fﬁ%?ﬁa | 36

VN D fergre qam g 7
A il |

B o v !

O P w1 freape .

D, 9 80 |
B, 31w 6} vasan e,
19 2w e 4 o Feretiey a1 ey Fﬁf&q :
e : '

(1) %am A, B, D, i
(2)  Haw Avd ¢
(3)  %ae O

) %aa A, B, ©
(b)  sAgafie wo s
U A1 e % o e oy ﬁmm'%
?_.Umim?qi};ﬂhﬁmﬁi-‘ﬂlﬁfhaﬂm
27
(V) e (2)  wrdTTEy,
@) g (g) ATy,
(6)  safie g
10

34, In which

35,

37.

Bl aspect of nstitutiona]

? Dning ig Prayer-assembly included ?
) Co-scholastic aspect

() Physical aspect

(3)  Parental aspect

(4)  Educationa] aspect

(5) Questiqn not attempted

The supervision which is baged
Upon practice like q told him to do

this’ is

(1) Creative supervision

(2) Autocratic supervision
(3) Preventive supervision
(4) Inspirational supervision
(5) Question not attempted

Given below are principles of
management. Which principles
were suggested by Henri Fayol 2
Remuneration
Division of labour
Span of Control
Discipline :
. Unity of Command
Choose the correct option from the
codes given below :
Codes ;
() A,B,D, E only
(2) A and C only
(3) Conly |
4 A, B, Conly
(6) Question not attempted

The leader divides the work among
the people. This comes under which
function of leadership ?

(1) Executive

(2) Cooperation

(3)  Goal setting

(4) Motivationa_l

(5)  Question not attempteq
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42.

A e e W aman 7

(1)
(2)
(8)
(4)
(5)

Frefien 3 4 smogitard % iy

CENLGRE

BT T e 8 !
(1) SFR=R & s
£2) ﬁmﬁrm:mn
(8) ST T4 oy g

29 fewwa, 19738
01 serdl, 1973
01 SHad, 1974

29 Fava, 1973

12

41- 3 1 !
I When did Rajasthan State

42,

43.

Board formally came into eXistence 9

(1) 29t December, 1973
(2) o1 January, 1973
(3) o1s January, 1974

(4) 29th November, 1973

(5) Question not attempted

Which of the following is not a
division of the Council of RSCERT?
(1) Mass Communication Services
Division

(2) Teacher Education Division
(3)

Planning Management and
Finance Division

(4) Educational Survey, Research
and Policy Perspective
Division

(5) Question not attempted

Rajasthan State Open  School

provides the facility of selection of

how many Subjects o4 of the

prescribed subjectg in clags 10th and

(1)
(2
(3)
(4)
(5)

00

-
=

44.

45.

46.
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¥ I THY T O B 251 gy
@m%%
e R e S w1 g ;
Hﬂm%mﬁlBowmgﬁ:
WD @) 4
@ 6 @ 3
(5) TG T
. Fues i Afer e R = ok 3
s 2009 & W FW F o
T TR A S e s
TR 7
(» T P o ofed W
Taren =1 3fsR w2010
(9) ToeE fges iR afEnl A
Tare =7 37T 3 2011 I
(3) TR fiE S I
vt w1 i 2012 \
(4) Wﬁ;gﬁaﬂtmﬁﬂﬁwl
e 7 Ffrewr e 2009 ‘
(5) TG A \\
Maﬁlﬁﬂﬂﬁs%ﬁéﬂﬁﬁ::;]l“'
%WW@W*WR:@H&
sna‘eﬁm‘aﬁ%fﬁqﬁﬁw
o & -
(1) 1000
£2) 1200
(3) 200
(4) 100
(5) TG 13

) Art. 19
According to RTE Act, 2009, All: .
and 256 Norms and Standard, it any

0
school of class 1 to D have 13
enrolled, how many

gtudents

teachers will provide ?
@ 5 2 4
3 6 4 3

(5) Question not attempted

What is the name of Rule framed by

Govt. of Rajasthan to implement

Right of Children to Free and

Compulsory Education Act 2009 ?

(1) Rajasthan Right of Children
to Free and Compulsory
Education Rules 2010 :

(2) Rajasthan Right of Children
to Free and Compulsory
Education Rules 2011

(3) Rajasthan Right of Children
to Free and Compulsory
Education Rules 2012

(4) Rajasthan Right of Children
to Free and Compulsory
Education Rules 2009

(5) Question not attempted

As per norms and standards for a
school, as mentioned in RTE Act,
the instructional hours per
academic year for sixth to eighth
class are
(1) 1000
(2) 1200
(3) 200
(4) 100

() Question not attempted
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Which of the following function i

not  of  School

Committee gag

Rajasthan ?

(1) To ensure that teachers
perform their duties specified
by or under Section 24

(2) Monitor the working of the
school

(8) Issue and monitor the
utilisation of grants received

(4) Prepare and recommend
school development plan

(5) Question not attempted

Management
per RTE Act in

In RTE Act, a child belonging to
‘disadvantaged group’ as per state
government meang

A.  An orphan
B. Achild of war widow

C. A child or whose parent or

guardian 18 HIV/Cancer
affected person.

D. A child or whoge parent or
guardian g any disease |
affected person.

Choose the correct option from the |
following code

Codes : I
(1) A, BandD only
(2) Band(C only
(3 A, Band Conly
(4) AandB only

(5) Question not attempted

51.

52.

00

frafafaa da =

(1) <hregeimiar
(3) Triy ST
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(1) Fort of Ajmer

(2) Fort of Allahabad

3) Fort of Lahmte

(4) Fort of Agra

(5) 'Question not attempttlad

Hindustan Socialist Republjcsfn

Association did not have a 'role in

which of the following activities ?

(1) Kakori Incident

(2) Throwing a bomb in the
Central Legislature

(3) Attempt to bomb Irvine’s

train
(4) Saunders Murder
(5) Question not attempted

Who among the following was
associated with the Azad Hind Fauz
at its initial stage ?

(1) Chandrashekhar Azad
(2) Shyamji Krishna Verma
(3) Sachindra Sanyal

(4) Ras Behari Bose

(5) Question not'attempted

. Which of the following works was

composed during Gupta period ?
(1) Kavyamimansa

(2) Swapnavasavadatta

(3) Chandra Vyakaran

(4) Brihatkatha

() Question not attempted
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59.

60.
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56,

57.

58,

59.

60.

the
o was

ddev ?
Devra

Wh
Kanha
Jaita ‘

b
padmand
(?; Devra Surthana )
Eﬁ) Question not atte

: h
Where is Rana ganga’s CenotapP

f)
Chhatri) located ? : 3
El) Chittorgarh (2) Mandalgar

@) Erichpur (4) Kz:tlp;i
(5) Question not attempte

Shivnath Singh played a role in the
revolution of 1857. He was from

which of the following ‘Thikana’?
(1) Gular (2) Kothariya
(3 Salumbar (4) Aasopa

(5) Question not attempted

Which of the following was the first
political newspaper published in
Rajasthani language ?

(1) Agivan (2) Jaidhvani

() Jaibhumi (4) Lokvani

(5)  Question not attempted

Wh

el e
(D) Rajjil '

(2)
(3)
(4)
(5)

Nagbhattg 1
Math and ev

Uestion not atteﬂlpted
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5 .
3. Which statement is not true about

b4.

55.

Sardar Vallabhbhai Patel ?

(1) Sardar Vallabhbhai Patel
rejected any agreement that
would not completely cede
defence and external affair to
the Govt. of India.

(2) He helped to draft an
Instrument of  Accession
which was acceptable to the
princely states.

(8) He was the Constitutional
Advisor to the Governor
General.

(4) He was the Deputy Prime
Minister in the Interim
Government.

(5) Question not attempted

Which was explored by
Archaeologist ‘Neelratan Banerjee’?
(1) Ahar (2 Kalibanga .
(3) Ganeswar (4) Bairath
(5) Question not attempted

Read the following statements
about Bipin Chandra Pal :

A. He published a fortnightly
magazine Kaumudi in Bangla.

B. He also served in the editorial
department of the ‘Tribune’
published from Lahore.

Choose the correct code :
(1) Only statement ‘B’ is correct.
(2) Neither ‘A’ nor ‘B’ is correct.

(3) Both the
correct.

(4) Only statement ‘A’ is correct.
(5) Question not attempted

statements are
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60.
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(6)  onerRe v (6)  Question not attempted
(4)
68, WUH URE NS qeTaf o) ity R 68. The median of the first twelye
(14 | prime numbers is ®)
@ 16 (1) 14 71 7
@ 17 (aio 2% -
i @) 17 %
) 13 J&t
(b) e we ) Ak
(6) Question not attempted &
: 1)
69. =1 s 00 sufml o) ;
i, sfafe s & 69. The f0110wi{1g data are related to @)
e T R the per day income of 90 persons : . (3)
™ R ) Eﬁaﬁf‘aﬁa@ﬂ Income (in %) | No. of Persons )
500 — 999 2000 [0, 500 - 999 ®)
1000 ~ 1499 16 1000 — 1499
‘1.500 - ;999 8 1500 — 1999 79, (24
L2w0-2i90 | 2000 3459 | e
v = B ' : :
21,500 41 359 srfer A o Wlim e s €rcentage of persons i
S Whose per day income ig 7 1 500 or 1y
(1) 45 more ? ’ _
(2) 40 (1) 45
;Z) 60 @) 40 2 '
«1) 50 (3) 60
: (3)
(6)  3rerfea gy (4) 50 L (4) £
+ :
(5)  Question not attempted (5) 3
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73.

74.

75.

Using the base of a solid cylinder
with height 15 ¢cm and diameter 16
cm, a cone is cut having height 4 em
and radius 8 cm. The total surface

area of the remaining solid is
(1) 383 mem?
(2) 3591 cm?
(8) 874 x cm?
(4) 8621 cm?
(6) Question not attempted

Two solid spheres made up of same
metal weigh 1 kg and 7 kg. The
radius of the smaller sphere is 3 cm.
Both the spheres are melted to form
a single big sphere. The diameter of
new sphere is

(1) 9em

(2) 12em

(3) 15em

4 6cm

() Question not attempteq

A square shaped hollow tube opened
at both ends is made up of iron. The
side of the Internal square is of 5 em
and length of the tube is 8 cm. If the
volume of jrop used in the tube is

192 em3, thepn the thickness of the

tube i5 -

1) 1cm
(2 15em
3) 2em
4 05 cm

(5) Question not attem pted

Nn



70. AR 3(7x + 1)2— 45y _ 2\2 ;
o (_L-"l ~— 3)" = b
11(01 =93) | 70. ¢ 3(7x + 1)% — 4(bx — 3)2 = 11(5x — 3)

(Tx + 1), @2 X+ 1 3
. x—3 G’W% 5 5) (7x + 1), then the A
B3 HH % : 3 1 =
wherex # — ——
() ==y ( 3 7] Y
3 1
1) e
(2) 9 —l & 2
4 1
. @) 38—
; @ 3 4
(4) _3: 7
(6) IgalEy= -
(5) Question not attempted
71. gNq el ar + 9y =
s y 15 1) 77 The simultaneous equations ax + 2y
y = SEI?EHWEE’I%W?%, =15 and 2x + by = 25 has unique

SEl S F A= ' R 99da st a9 solution, where the values of
g, dl (5a + 3b) ST 2 : variables are equal but of opposite
signed, then (5a + 3b) is equal to

((;)) ; 1 4
: (2 3
(3) 16 (3) 16
(4) 5 4 5
(5) 3—'!3,?1’&3 o (6) Question not attempted
7% (2.43)%18 x (243)007 x (10)0-26 l 72. The value of
A (7)0.26 % (49)0.075 % (343)0.2 &1 A Q-43)0.13 » (243)0.07 % (10)0.26 )
% : (7)0_25 x (49)&075 x% {343)0.2
3
i w7
32
@ o 7
3 o (3) (g)l!ﬂ
@ (3 f
Wi 4) 1
(5)  Question not attempted
(5) FigufE A +
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64,

65.

66.

Geptember 18
. following

month ?
(1) gunday

(2) Monday
(3 Tuesday

(4) Saturday
(5) Question not attempted

Which of the two signs need to be
interchanged to make the following

mathematical equation correct ?
TH+TeT-TxT=1

(1)
(2
3)
(4)
(5)

+.and +
+ and x
+and x
+.and —

Question not attempted

i:mtmg to a girl in g photograph
: ahesh said, “Hep mother’s brothex"
is thg only son of my paternal
grandfather”, Hoy 18 girl’ :
o e S mother
(1) Sister

(2) Mother

(3) Aunty

4)
(5)

Qlle 1
Stion not attemntad




61.

62,

o el -l 3 gy A F W/ BR Y

sy e f/8 7

(A) Ry & R
qg’auaaam

@ A el & Pw e 6 ey
e e A e
el g |

()« @t syfema-afd &)
framr=diaa |

el I He gAY :

(1) FaAA) (@2 .*"’F‘(B)

@) AIRM®B @4 '(A)aﬂt(c)

(6) IgEid =

/3 el /Aot fafa Aift,
sl i i kiR w w5
fervrareg % w0 3 S gory 2 «

@ SR (i) S

(i) 3reFR (iv) R

Hel 52 %1 = ifvye

O F@GEv) @ @) gy)
B Q)W GEH) (@) Faw @)

(5) rgafE wm

18

61.

62.

63.

Which statement/s is/are Corregy

about folk God and Goddesgeg 9 64. Afe i

(A) They can be approached by T8 &1
devotees more directly with the
faith. CIBE

(B) They will be able to interveng 2) 1
the most ordinary problemg of 3) 1
everyday life of devotees.

(C) Folk Gods and Goddesses {q S8
not teach about persong] 6) ¢
salvation.

Choose the correct answer code : 65. fr=r

(1) Only(A) (2) Only(B) R

3) (A)and (B) (4) (A) and (C) L3

(5) Question not attempted T+7.

Identify the painting style/styles (1)e

where the Rasraj, a literary work of 2) -+

Matiram, is used as a subject : @3) "=

(1) Jodhpur (i) Jaipur @) +

(iii)) Alwar (iv) Bikaner G) =

Choose the correct code :

(1) Omnly@v) (2 @) & (@iv) 66. T B

3) ()& (i) (4) Only () T 72

(6) Question not attempted qGT T

Between whom he | TRy & f

‘Gentleman’s Ag’reement}vs%gned ‘?t s

(1) Jamnalal “Bajj and " Jaipur (Daas

. Haharaja 9) TR

@) Harbhau Upadhyaya and | @A

® Mahgtma Gandhi (3 T3

anikya [,q] Verma and %

@ Mewar Maharaja r' 4) ¥l
Ei;aalia]ll Shastri and Mirza

: 5 '

(5)  Question not attempted o0 Do





